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Pass_ Marks : 30
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The figures in the margin indicate full marks
for the questions.

Q. No. 1-carries 1 mark each ; _
' 1 (a) ' 1x4 = 4

1 () 1x2 = 2

1 (0 o 1x2 = 2

Q. Nos.-'2—6-cnrry 2 nzarl'ké each | 2x5 = 10
.Q. Nos. 7-11 carry 3 nmrkg eachh ' . 3x5 =15
Q). Nos. 12;18 carry 5 marks each‘ 5x7 = 35
Q. Nos. 19-22 carry 8 marks each | 8x4 = 32
| Total =100
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1. (n)
@)
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Fill in the blanks with appropriate word/words : - Ix4=4

BT R A o3 A 3

(i)  The liability of every shareholder of a company is -
. 1

GOl (AR AT SH2fa HI7FE (g AR 1

(ii) Outstanding Subscription is shown on the side of
the Balance Sheet. 1
ATl IeH TFE “fa3 mm{e@z&u

(ii7) If a partner takes over a llablhty of the f1rm that parmers
capital account is 1
M qTH SAWIE AR ﬁ‘l“%ﬂa o T @ﬁﬁ"z‘ci FE, (0%
SRAME TF A 2519t 29 |

(iv) Current ratio is the relationship between _ assets
and current liabilities. ‘ 1
5lETS SIS {8 oS tlere AR TFS oI |

Choose the correct alternative : ‘ 4 ' 1x2=2

()

©% OG0! G T4 2

Annual Report is issued by a company to its :
Gt @I A Al [ w3 3

(1) Directors

FALCTIATEAT |

(2) Auditors
2o R

[2]



(3) Shareholders
G AGLIITATETD

(4) Management.
A1 IS |
(i) Financial statements of a company include : 1

@Bt @Wﬁaﬁﬁﬂmww@@tﬁw

(1) Only Cash Flow Statement
(TS ALY &RAIZ Ao

(2) Only Profit and Loss Account
@A ArS-(AITEH 2519

(3) Only Balance Sheet
(& OFE Aq

(4) All of the above.
AR (MDA |

() State whether the following statements are “True” or “False” :
o] IR (FITIE ©F 7 FIT FA o

(i) The deceased partner is entitled to a share of profit for the |
' period upto his death. 1

T (XA AT (a1 o] O] O Smiermd sl |

(i) Profit or Loss on revaluation of assets and liabilities is
distributed among old partners in sacrificing ratio. 1

T S I (AR ST TEEER 2 (IR AS A @R SR Seim
AP AES TR SAreS [oqt 741 A |

ACOU _ - [3] . LN ‘ Contd,



2. Give hvo distinctions between a not-for-profit organisation and a trading |

organisation. : .2

Wmﬁmmmmwwzﬁrm@%m

3. A and B are two partners sharing profits and losses in the ratio of 3:2. |

. : 3 : -i
C is admitted as a new partner for TB“‘ share which he acquires -l-ath l

1
from A and I-ath from B. Calculate new profit sharing ratio. 2 |

A SIF B [SH ST S (SSEIS 32 2 SANSS SS-(AIDN 157 FHEa | |

3
(OSEANT C-F T4 SR 21t 76 | C-(F #res To 1 AR 3 TN (98

2 1 |
AE‘PRTEWiﬁWBGW—W%‘Iﬁ’tﬁlﬂ@W?‘?ﬁ@i{Wﬁ‘fﬂWl'z

OR/ 712 |

Give two conditions under which a partnership firm is dissolved.

e I S 7T S| 7oy [ B ' ~ |

4.  Mention any hwo features of a debenture. : : 2

Qelofa] ey 7o) (PR Srad F1 |

5. - What is the meaning of Cash Flow from Investing Activities ? 2

AT PROTTE o[l (@[ T 4T ek T W B

6. What is meant by “super profit” in relation to valuation of goodwill ?
: 2

HAN YERN TS “Sifoere” W [ 3@t 2

7. Mention three objectives of preparing financial statements. 3

Réh afsravm e foRb! S Sre 3 |
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3. Calculate liquid ratio from the following information . 3

wee el SRRl o1e Seire {dT & ¢

Stock (S i°7) =% 50,000/-
Debtors ((M=WI<) = I 80,000/-
Bills Receivable (2ii* f&&) = ¥ 10,000/-
. Advance Tax (Sifawems 39) = ¥ 4,000/ -
Cash (1) 3 - 2 30,000/-
Creditors (?\¢<WI) = ¥ 60,000/-
Bills Payable (2w ) | = T 40,000/-
Machinery (I%{ifS) = ¥ 50,000/-
Bank Overdraft ((33F SeRGIXs) = T 4,000/-
Debentures (dQ) _ = ¥ 70,000/-

OR/ =3

What is Comparative Statement? Mention two objectives of preparing
Comparative Statement. 1+#2=3

e YRS WA e gemnee RIS awoasem 707 Srnel SrEd 31|

). . What are contingent liabilities ? Mention any two items. 1+2=3

HERY (A1 e 5 et 2 Rieplear gfqed N S <+ |

OR / 734t

Explain the average profit method of valuation of goodwill. 3

AN TEITAT NG AT 7S G 4|
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10.

11.

Calculate amount of medicines consumed to be shown in the Income and

Expenditure A/c for the year ended 31-12-2018 : 3

31-12-2018 ©ifftd SRe#ia1 ILT WF-IPY Bpire @RRANE 3941 IR AR

GRRESIE
01-01-2018 31-12-2018

(Rs.) (Rs)
Stock of Medicines (\€F4] o) | 3,000 500
Creditors for Medicines (‘€841 A iheamR) 2,000 ' 1,300

Amount paid for medicines during 2018 was Rs. 10,800/ -.

2018 J3q fooge @] @ 10,800 Tl ~AReNy T 2fe= |
OR/ 7AZd

Mention any three distinctions between Receipts and Payments A/c and

Income and Expenditure A/c. B ‘ 3

TG Zhie SE SE-rw ek Tere 4 ﬁm_@ﬁﬁm@@mﬂwn

Mention any thiree limitations of Financial Statements. 3

e AfSravmR R oA Aaast Sramd 91 |

OR/ 7RI . | :
Write tiiree objectives of preparing Realisation Account. 3

TR {2519 ofgs TR foRo! Sowey &t

29T ACOU o [6]



‘12. North East Club had a Cash balance of ¥ 20,000/ - and Bank balance of
% 35,000/ - respectively on 01/04/2017. From the following details prepare
a Receipts and Payments Account for the year ended 31/3/2018: 5

94 3 FRA R 01/04/2017 SIS 75% 44 et 20,000 5 &F @S Sl
wifeet 35,000 5! | ©Fa AR #fA1 31/03/2018 SifHr SF o[ IZFHR @ Tl

G fopir oS - | _
Subscription Received (2I® 32€[) ' (Rs.)

2016-17 _ 30,000
2017-18 , 2,25,000
2018-19 - 10,000

Donation for Building (31 2 7IT)
Entrance Fee (2@ 2ita WHaT)

Life Membership Fee (S&a 3] AZaT)
Printing and Stationery (%l S SCAIZ<T)
Lighting Expenseé (Rgrex <=5)

Rent and Taxes Paid (SI%l ©IiF T ‘P@P‘ﬁﬂ)
Telephone Chargés (BT 495)
Postage (TIF) |

Salaries (W<9g))

Insurance (=)

Interest Received (1 7J9)

Locker Rent Received (7I<e ©o 24ifes)
Purchase of Furniture (MBI )

Cash in hand as on 31-03-2018
(31-03-2018 Sif<¥® w5 &1 )

29T ACOU : [7]

(Rs.)

~2,65,000

60,000
23,000
20,000
38,750
26,250
17,000

2,600
2,000
88,000
15,000
18,000
42,000

2,00,000

23,400

Contd. ‘



13.

OR/ 733

Explain in brief the treatment of the following items in preparation of

Income and Expenditure Account : ' ' 5
TG 2519 2GS FRACS o7 el +msTzs fiﬂ‘ﬁ T2 I E‘Q?QS?I]T'«’IH 41 3
(i)  Subscription (I9g[)

(i) Life Membership Fee (&4 7S] JRa)

(iti) General Donation (T4 wiK)

(iv) Specific Donation (R we)

(v) Legacy (Frraif) 9

What is Cash Flow Statement ? Explain its Hiree limitations. 2+3=b

e Az Afsram A [Fe @3 AfSrvae fOADr Msiamer ikl 341 1+

OR/ 734t

From the following information calculate the cash from operating
activities : '

TS [Tl SANART A FAIRHE FEPNI #F Fomes ek wARme [efa 41

‘[ 2016 (Rs.) | 2017 (Rs.)
Profit and Loss A/c (sif® (ARG f&ois) 3,00,000 | 2,50,000
Bills Receivable (21l 1) 20,000 18,000
Provision for Depreciation (SR A HA{ED) 60,000 80,000
Outstanding Wages (&t sgfl) 18,000 | 15000
Prepaid Insurance (Sa% ewa i) 6,000 9,000
Goodwill (331%) ' 40,000 | 32,000
Provision for Doubtful Debts : 10,000 14,000

(FCARTAT I AR SR I |

Debtors ((FHIAR) 1,20,000 | 80,000
Cash and Bank Balance (?19{'7( % (] @'@@) 30,000 25,000

29T ACOU [8]



14. A business has a current ratio of 3:1 and a quick ratio of 12:1. If the

Working Capital is ¥ 1,80,000, calculate current assets and stock. 5

B AT BT TS 3:1 Wi SIFet) Sgeito 1 2:1 | 3 I Jog= 1,80,000
5 W, (0T biete Wofe Wi Woe SR S [T s

OR/ 713

What are profitability ratios ? What is the significance of gross profit and

operating profit ratio? 7 : 3¥2=5

AreTmEel SsreEr & & ?WWWWWW&W@W%?

15. A, B and C were partners sharing profits in the ratio of 3:2:1 respectively.
Balance Sheet of the firm as at 31st March, 2017 stood as follows: 5

A, B s C fofiem siofmics «aiiterca 3:2:1 Sisiies #11S 3764 SRR | 31 Tb,
2017 ©ifftd (o€ AfSPINT Tg€ 2ad weto Ml wid SifRs -
| Balance Sheet (¥5€ *l@)

Liabilities ((w=1) ®) | Assets (F7°if®) ®)
Sundry Creditors 16,000 Building (S2¥) 23,000
fafdx sfeamig | | k @ |

.- Debtors ((MH®IF) . 7,000
Capital :
- (e ¢ I Stock (FEFS #14Y) 12,000
A : 20,000/-
B :  7500/- Patent (€155 ) 8,000
C : 12,500/- 40,000 Bank (@‘{35) - 6,000
56,000| 56,000

29T ACOU [9] ' ; Contd.



"B" retired on the above date on the following terms:

weTe gl 5% S, $HAEE Oty B-(7 SRR S5 0 -

i) Building to be appreciated by % 8,800.

I &7 8,800 THIE Jam A} |

i1) Provision for doubtful debts be made @ 5% on debtors.

(MRS GG 5% TR ACTZEAS 4] AW Siare JI7 41 1 st |

i) Goodwill of the firm be valued at % 9,000.

2R FFE 9,000 TS SRR <591 W |

Pass necessary Journal Entries.

mﬁnw 2RkfR Wal
OR/ 733

What is share forfeiture ? State the procedure of forfeiture of shares.

2+3=5
SIS M S 2 Telofas qreaidser dfFa S |

16. What is Partnership Deed ? Mention its four principal clauses.
' 1+4=5

LM o WA & 2 WA wfees 590 30 vl S 1

29T ACOU [10]



OR / 7123
Following is the Balance Sheet of P, Q and R as on March 31, 2018.

P, Q ©I% R-¥ 31 Wb, 2018 i I¥T TF€ +1ad were fual a1 —

Balance Sheet (¥%@ #@)

Liabilities (=) ) Assets (F™#if&@) €3]
Sundry Creditors 16,000| Bills Receivable (2=} &) | 16,000
e ~Mhem Furniture (ST53R) 22,600
General Reserve 16,000 '

e AR Stock (TS #<ly) 20,400
Capital Accounts : Sundry Debtors
T (RRg @amiR) 22,000
P : 30,000 ‘
O : 20000 Cash at Bank (@539 &) 18,000‘
R : 20,000 70,000| Cash in Hand (959 &) +3,000
1,02000| | 1,02,000

Q died on June 30, 2018. Under the agreement the executors of the

deceased partner were entitled to:

30 &, 2018 WIfi¥® Q- Y = | pfowe Jo wAmeT afeRfd s/ o[ :

a)  Amount standing to the credit of Partner's Capital A/c.

SN I RO (et ¥t Aol @ |

b) Interest on Capital @ 5% p.a.
IR 5% AR T C2T0 7O |

c)  Share of goodwill on the basis of twice the average of the past three

years' profit.

‘ﬁWﬁWWWE@%%WWWI

29T ACOU
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d)  Share of profit from the closing of the last financial year to the date
of death on the basis of last year's profit (2017-18).

RioFS TR (2017-18) wTre Fof%s fviest 4R 0ot Riofe I AR ifRd o
JOR SIS wreq o |

e)  Profits for the last three years were :

Rore ez oo wifee :

Year/a{ . Profit / =T©
| 2y
2015 - 16 12,000/ -
2016 - 17 16,000/ -
2017 - 18 14,000/ -

Prepare Q's capital account on the date of his death.

Q= TR OIRYS (04 ek Rplel eRE |

17. Distinguish between Realisation Account and Revaluation Account. 5
RS {2519 W SRR 25 Wers 4w sl B |
OR/ 7%t

A and B are partners sharing profits equally. salance Sheet on September

2018 was as follows : . 5

A IF B W TS AG Io4 I WA SR | (5rdwq, 2018 ©fk®
(ST T8 AdY Tere Wl <9 SifRei |

29T ACOU ' [12]



Balance Sheet (3%% @)

Liabilities (W 1) ®) Assets (71f@) )
Creditors (s8amiF) 11,200 Sundry Assets 59,000
Bills Payable (ait7@ &) 1,800 ﬁﬁd(' s
Reserve Fund (3if%s «{fer) 6,000
Capitals :

TeTe
A : 20,000
B : 20,000 40,000
59,000 | [ 59,000

The firm is dissolved on the above date. Assets are realised at  49,600.
Creditors allowed a discount of 2% and Dissolution Expenses came to I 544.

Torare wifis DGR SeM 906 | [Ridy iferr [an R 49,600 T

S AR S| ANSAMR A 2% @2 T SF SAAESE /W (YA AR
off Il 544 BH T |

Give Journal Entries to close the books of the firm.

ARSHCBIR BoI7RRER 7% 91 I ww ok

18. Discuss the process for allottment of shares of a company in case of
oversubscription. 5

SES PITAOY (FAS (PN ORHAAG ST AT SIS |
OR/ 721 .

. Prepare a Comparative Income Statement from the following particulars :

5

Te WA 2F] G TERIES S AfSrEma oge T4

29T ACOU [13] ‘ Contd.



Particulars (Rea9) 2017 () 2018 (3)
Sales 4,00,000 ~ 5,00,000
Cost of Goods Sold 2,00,000 3,00,000
Adll1i11istrati\re Expenses 40,000 | ; 1,00,000
Other Income 20,000 30,000
2SI CIRIE ,
Income Tax I 60,000 70,000
\IBE| '
19. Following is the Trial Balance of Rana and Raju as on 31st March, 2018:
: 8
31 Wb, 2018 ©IfRTY INHT: IGR TG e A oo Al 4301 Sifes -
Dr. : Trial Balance (353 fie = #@) . " Cr.
Particulars ([a3) (€3] Particulars ({9234 @)
Machinery (IZ-1fs) 10,000 | Capital : ;
Furniture (SI53R) 20,860 | TTEE -
Rent (99 Sid) 19,740 %ﬂa = 65,000
Salaries (V<31%)) 9,000 _ Lo . 000
Debtors (W) 40,500 5%“ = 40,000 11,05
Cash in Hand (% &) | 16300 | ieditors (sftemmma) 18.400
Cash at Bank (RS &=))) 45,000
issi ‘ 300
Drawings (SI1239) ¢ Commission (w&f)
Rana (W) - 4’000 : Bank LO&I’\' (@‘(‘Q‘ﬁ ‘i‘,ﬂ“{) 5,000
Raju (3rg) = 3,000 7,000 | Trading Account
. Closing Stock (37afd wg@)| 12,500 | (FF-Rew i) -
Commission (W&[R) 5000 | Gross Profit (Y5 =) 57,200
1,85,900 {185,900

29T ACOU [14]



Prepare the Profit & Loss Account and Profit & Loss Appropriation
Account for the year ended 31st March, 2018 and a Balance Sheet of the
Firm as on that date after taking into consideration the following

additional information :

woTe fra SfefRe Rz Rs 3R o 56, 050 SR % 41 LR AT
SAS-EE 2519, ie-(AiTbiH SHAEEH 57 =is T wifws afopmnR
- TgE g Age I ;

i)  Depreciate Machinery @ 10% p.a. and Furniture @ 20% p-a.

TEofex ema&ﬁlo%ﬂ@wm‘ﬁaﬁzo%wmaml

ii) © Partners will get interest on Capital @ 5% p.a.

SRAMITTICE IR 5% A JELAT S2TS TS AR |

iij) Raju is entitled to a salary of 1,800 p.a.
AR IR 1,800 B TR AR |
iv) The Profit sharing ratio between Rana and Raju was 3:2.

AT S MG ASTS TS T6A9 TS 3:2 Hfee |
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20. M. S. Limited issued 1,000 equity shares of Rs. 100 each payable as
follows : : 7 8

On Application —  Rs. 25 per share

On Allotment —  Rs. 25 per share
On First Call — Rs. 20 per share
On Final Call — Rs. 30 per share

All the shares were duly subscribed for, called-up and paid-up, except
Mr. A holding 400 shares did not pay the final call money.

Show the entries in the Cash Book and Journal of the company for the
above transactions. '

MS. Ltd - @ @f$37 100/- =8 509 1,000 I Sixi7g [ifei 1 s 2 oo
et siffeig R =l - :

RS d9® — 25/- 5l

HAoT Fe  — 25/- Bl

AN SERE e — 20/- 5H

POI% Weid] &9r — 30/- O

GNAAERT AR TS W@ (R S| (NDRERT TER IR e E
[TO A-T POIE TERT 400 3 ST 479 JAMRE IS Fweet] w (A o |

(AT IR ML) SFS T WS Arae-id aean gk

OR/ 7zt
Write short notes on: _ 3+3+2=8
a)  Redemption of Debentures
A SAfReNY

b) Loss on Isssue of Debentures

Yoioige [RiTeee @ EIe
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¢)  Minimum Subscription.

TS S |

21. S. K. Ltd. issued 1,000, 12% Debentures of Rs. 100 each. Give journal
entries for Redemption of the debentures in the books of the company
under the following conditions : 2+3+3=8

S. K. Ltd.-4 100/- 53 &R 1,000 ¥ 12% aof@ R[fF ke | oo fa
SRZPTZE AR (FAIRIKR IS AT ART1 AT 29 2[4 @ien ARkfE

i)  Issued at Par and Redeemable at par after 5 years.
AgEnS Rfeead o 5 A% A% FwETs ARC |
ii)  Issued at Par and Redeemable at a premium of 5% after 5 years.

Aers Rfemd o 5 3991 e 5% wiigTe s

iii) Issued at a Premium of 5% Redeemable at Par after 5 years.

5% SfEgee [fFad Wi 5 93T s TS AR |

OR/ 7zt

Write short notes on : ' 2+2+2+2=8
HoI {1
i)  Authorised Share Capital

TGIFO B LA
if) Call-in-Arrear

AF TE
iii) Pro-Rata Allotment

AT ST ST

ib) Preference Share.
G fEPRTE S |
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22.  Vimal and Nirmal are partners in a firm sharing profits and losses in the

ratio 3:2. Their Balance Sheet as on 31st December, 2018 was as under:
8

e o e 3:2 SPies @S WIS @A 07 TR 5SS AR FEH |
31 fSoaR, 2018 OIRCY (SSEFT TFG 2193 Sore Tl Wig ifee -

Balance Sheet (¥%G #id)

Liabilities (¢#) (%) Assets (7i1S) @)
Sundry Creditors 20,000| Cash (F9% =) 14,000
/R4 siteTmi ' _
Capital Accounts : Debtors (M) 18,000
S f2519 - _

Vimal :Rs. 60,000 Machinery (I@ifS) 50,000
Nirmal :Rs. 32,000 92,000 ' '
‘Profit and Loss A/c . | 20,000 Stock (¥ A) 40,000
=TS-(eTIo 2517 | - | ‘

Goodwill (F9I%) 10,000
1,32,000 | 1,32,000

On that date Kailash was admitted as a new partner He paid i 40,000 as
his capital and T 20,000 for his share of goodw1ll The new profit sharing
ratio was agreed to be2:1:1. -

Pass Journal entries in the books of the firm and show the Balance Sheet

of the new firm.

Totare Wifcd Kailash ~9 go@ g4 i fZoicel e «iiet | o€ fem
ETER AR 40,000 BB SF FANE (99T SHF A 20,000 T S | 708 679
mwaon—znﬁiﬁmmi’almﬁ—maﬁ%ﬁmm
Tod efove Tg8 ol odwe 34 |
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OR/ T3t

What is goodwill ? Mention four factors affecting the goodwill of a firm.
Mention three conditions when valuation of goodwill becomes necessary.

1+4+3=8

T WA 5 2 ofodRe TS SR (IR S 51D TS S 4 | I
TR ARG TSl SR #[/ oD ARkfE S |

29T ACOU [19]



